AXKHXH K2

1. Noa 2000V ta TpofANUATO GULVOPLUKDV TIUMV:
A)Au(p,p)=0,1< p<2,0<p< 27
U@, @)=0,0<p<27,u(2,0)=1,0<@p<m,uR,p)=-1, 7 <p<2r.

ou(a, p)

B)Au(p,9)=0,0<p<2,0<p< 27, 5
0

= A +C0S .

ULP) _p, o N2 _,

C)Au(p, ) = p°cosp,1< p<2,0< @< 2r,
op op

2. No ABobv ta TpoPANUATO 0PYIKOV-GUVOPLOK®OV TILMV:
2
a)Au(x,,X,,t) :Cizgt—l:,(xl,xz) €(0,1)x(0,2),t >0,u(x,,X,,0) =sin zx, sin rX,,
u, (x,,X,,0)=0,u(0,x,,t) =u(l, x,,t) =u(x,,0,t) =u(x,,,,t) =0
b)Au(x,t) =Zt—u,x6 (—00,00),t > 0,u(X,0) =™,
u,u, —0,|x| — .
ou L)
c)Au(x,y,t):at—,(x, y,t) € (0, 0) x (—0,0),t > 0,u(x,y,0) =2e 3,
u,u,,u, = 0,x’+y* -0,
d)Au(x,t) = Zt—u X € (0,00),t>0,u(x,0) =0,u,(0,t) =cost
u,u, - 0,x > co.

e)Au(x,t) = gt—u X € (0,),t>0,u(x,0) =0,u(0,t) =5cost

u,u, >0,Xx > .



